Cumulative Review Name:. Loy ‘
Solve each equation for x. r@_w‘,z, 2%-5
1. 3xel=dx-2 2. Six 6) 2 5 BX-3V-2:=2%x-5
3 ) 0| ‘5y-32 2 2%-5
P . e X ol OX 31 2,)( Z,)( _Z.X
Ix+ FUx-2 . e -3 = -5
3')(—\—\"‘—‘)( L‘-y & 4 A ’x ’ fistrih ] e HY- 52f32. "5 +32
"\){"Fl 1 ot :X :5\ {0k g the ‘:‘;1-‘ anle
R X 7% é T50) 5(X’4>Ho 5(x- l>+l
¢+ 12 = 4 6 + ¥ 4. 3ix -4 6 5ix !
3. 7x 120 W8 e F ey * _| 3(X) ¥3(-4) v, = 5()()#5(\3
= TxtpEexsiz-2x o I 3X-12+0 3 5X-5+]
r’X‘Hl Yl )(: 5)( :/(O 5)(_1_'_
Sunn- n/” RO LY
convert the repeating decimal to a fraction. -2X-bF -4
e . N =i
5. 0.6 v _:2:\ b. 1 ; '__'__ Or.r{);{ L oax 1 - X 7(3; b ZW)
B - N L}’?ﬂ'or\ -AX72
Complete each sentence. 2 =2
3.

~11.3 isrational because

10.

1t Aerminates (shys).

q. ~19 isirrational because M\D\ ‘S I\U‘CMO\ Pﬁr{:‘ﬂj SQUQW%

GE

0.083 is rational because ﬁé __LS Yapmt‘nol) U€P€Qt WaUDWG )
W\

2.1371938. .. isirrational because _ J't 0\\){38 V‘b‘k Jcﬁrmmaﬁ Oy YPJpPQJD

Evaluate each expression. Leave your answer in ex xponential form:.
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